57081262 T ey
She - fhol he PAevdion of /e /un‘;w)l 1
fhe Curye ""’hd ,‘/”3 QJ/‘J Lhich jrherc iy

bebeen the axes /g of Constant [<hyHh
C‘n'\J "/."/]J f"ﬁ( GAreq Of‘ Jﬂ( /’0‘7"70’7 Mc‘ﬂaab.’
60/‘&1:’(/-, dhe axes and FAC /ﬂh‘;:n/’.

S"'. %”vch ﬁg '!?'5—’[40”1"’1 QF C Lyve Y

e ‘1
X %+ 73 % }‘ s

2
LN 6 VD
RN 8T o A
_>§ -—‘/30’
X Jd - o
44'3; ij
d -5 = -
c’k‘— K Y.
R

e el A

Ct poinF (39,%) (;73);:;’ x)3

3 J, #C IO/-A/ (Y’;",
_ﬁ‘c ‘C.)ouohb"'\b'fﬁcm(;ln a /

(S 31)@ (x~%)



Wiy .
Ince (3‘?,:11 /ey on 4he Cupve i,

% N V..
9+ g = G

iy . 1 B

Y \ ¥ |
* (3+>J,\I’x = X,l";;,ﬁ G 77 e (i

New 1o frad cub 4he infevcepl onthe x @i
We Sholl peot F=v In EA@

o X/
/‘zq 73

15 \
3= 23y,

27
X = X’,hq 3

. Fhe inferceptof fhe Fomsems onHhe

X-cyis OA: )C,}f.’c'%/ tohich fhe 4""’#

Cubs fAc x-<¥isomn oA — 347\”4'?7

ﬁm:'lqrony |
g-axts Lo sz pest 7h e bl
J oy irfe T LAV o fhadidig \
Fergent cuts #he groaxts=n 90 = &
77)“0 F4 < C,,rrd!'l\'/f C’f
A = CX}%G%J ° )
RE (01 57)3"%)
Now (am)d (0% s (- n’d)*
LB T }7’/34.“/3

e







